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SECTION—I : MATHEMATICS
1. cos36°cos354°-sin36°sin54°=

cos 36 cos 54° -sin 36°sin54°=

(1" 1 (2) ©
1
(3) -1 (4) 5

. 2. If two towers of heights h, and h, subtend angles of 60° and 30° respectively at the
| mid-point of line segment joining their feet, then the ratio of their heights h, : h, is
h, So8asn h,2 JEen AR Boidd AHoren 33 ooy 4955 B Poko @), g VoY Hod
D &S eren SOOI 60° 8ot 30° wond T Jtve VLB hy 't hy= N A
(1) 1:2 (@) 2:1 L\_ J
(3) 1:3 4 3:1
3. The angles of elevation and depression of the top and bottom of a lighthouse from

the top of a 60 m high building are 30° and 60° respectively. Then the difference
between the heights of the lighthouse and building is

60 Bo. I8 Mo 28 F%0 P 0od 28 B Foto B, P FAL JBAL SN grTPE SEBT S
30° 2:Baiin 60° &sfs SoBokn D%y S'erren Biueaond, B3 ogio HBaKH Lo B, Jve BEaw

(1) 20m (2) 80m

: 20 %v. 80 &v.
(3) 60m (4) 40m

60 2. 40 %,

4, Which of the following cannot be the probability of an event?
&4 1808 TS 2.8 Powd BL), Jogrigd SH8 D87

4
(1) o (2) 5
@ 3 @ 1
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5. If one cardll's drawn at random from a well-shuffled deck of 52 playing cards, then
the probability of getting a non-face card is

Bm" gmﬁ b Al ! “
B S2 W Jokyen Ao s 8@ od alrifdons mE SR AdSwaw, e S Do R
SEDERE Mo Jogrivgs

3
1 — 10
T @ 13
3 ._7__ 4.
W 13 W 13

6. A lot consists of 144 ball pens of which 20 are defective and the others are pond
Rafia will buy a pen if it is good but will not buy if it is defective. The shopkeeper
draws one pen at random and gives it to her. The probability that she will buy that
pen is
28 o6 144 oS Digen Ko, THE* 20 SNgirany DB, WROHY o0, BIAES Wod Vg
S0 §708008, S IEIPCRFAR DAY SR, HSTETEE ahrgntorr pE Byt dY el
AR TR0 & SRR Baha s Ko Sogmags

5 20
(1) 36 (2) 36

31 31
31 36 4 Taa

7. A bag contains 3 red balls and 5 black balls. If a ball is drawn at random from the
bag, then the probability of getting a red ball is www.apteachers.in

BUSHED @8 KD 20d eiHL Ko Dogridg®

(1) (2)

@l K|
oolw b|lw

(3) (4)

8. If the mean of the following frequency distribution is 15, then the value of y is
B¢ 508 SN1hidg Deressoo G, S 15 wond, y dend vat L

x|[5]10[15]20 |25
fl16|8|6|y |5
(1) 8 2) 7
@ 10 . (4) 9

SPACE FOR ROUGH WORK /508 RO

Sl Qcollegedunias

-~



9. If the difference between mode and menn of o data is k times the difference
between median and mean. then the value of k is

" !  TIR P o LT O £ o b %
ol (‘5@:@3’&1\) tjh-,g_«‘h EIUEREA Y “Batyy BO¥ 4 “...-F\..‘:l YA 5 .’(.;,,_) l;'ﬁg_‘;,- ), Gy -,,*“,cjﬁq‘fq,: 1 aflaiy ol 'J)(:){)QJMQ
.. ) i L/

B8 k Baw eond, k Hews

&1

(3) 1 ()

(1) 2 (2) 3
Cannot be determined

4508 "), B

0. The median of the first 10 prime numbers is
206 10 PE™R Joyge DG Dewd
(1) 11 (2) 12
(3) 13 (4) 14

. For the given data with 50 observations ‘the less than ogive’ and ‘the more than
ogive’ intersect at the point (15'5, 20). The median of the data is

2% SeroTod e6%re 8ok esbirn L8Sen 50 voTe) dvyow. © (155, 20) & Do 38
20G0WEI0LNTHON. WO SEPoBo B0k, Mg IE50

(1) 155 (2) 20

(3) 145 (4) 15

bl e ™ o
-t

2. The modal class for the following frequency distribution is

&4 (808 2190y Degresivo QL) erTUPE BENS

x | Less than Less than | Less than Less than Less than | Less than
10 20 30 40 50 60
10 somewys | 20 smpexyd | 30 8ms0s | 40 samssys | 50 soyewyys | 60 sy ey
f13 12 27 57 75 80
(1) 30-40 20 - 30
(3) 10-20 50 - 60

.
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ecimal places, the decimal expansion of the rational number

o ¥ e , e 7
85 oEBHan Bows Gk, Gos DRsE Y B0t FFTO BATE SRR s

m 1 2y 2
(3) 3 (4 4

14. The sum of the exponents of the prime factors in the prime factorization of 156 is
156 Q) [Pew sWsTos DRSS Srraroste Db 4 'ﬁ
(1y 2 (2) 3 5 |
(3) 47 @ 6 1

15. For any natural number n, 9" cannot end with whic.;x one of the following digits?
g S dows n L, 9" pewd &4 (808 O ©03E" ©obs 52657
(1) 1 (2) 2
(3) 9 1 r'/(:'4:] None of these

29D D)

16. If the LCM of 12 and 42 is 10m+4, then the value of m is
12 S08ai 42 Hogge Sami. 10m +4 90008, m e |
(1) % 2) % r'i_:-.h"."l'!_
@3 5 (4 8 -

| 1 1 1 Y

17. The value of Jo2-66 “Tog, 60  logs 60 ' *
1og3 60  10g4 60 logs 60 O I0P
(1) O (2) 1
B 5 _ (4) 60

S a— Y, - P e —
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|
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8. Which of the following collections is not a set?
S 1508 T°VE° D STAH0 2.4 H10d 59507

(1) The collection of natural numbers between 2 and 20

2 8asw 20 DS Ko Hres Rog)ger FHnEraio
(2) The collection of numbers which satisfy the equation x? -5x+6=0
-5x+6=0 o PDOSBETR) BIHBD SoRge HHEaio
(8) The collection of prime numbers between 1 and 100
1 S08asn 100 Dg Ko 1HEe0 RO DDNTAI0
—{4) The collection of all brilliant students in a class www.apteachers.in

28 BENGSD ©ostH BOPS DR FRITT0

9. If P={3m:meN} and Q={3"‘:meN} are two sets, then

P={3m:me N} 28a» Q:{Sm :meN} e Bockd HRBOTH

= (1) Pco (2) QcP
@) P=Q (4) PUQ=N

EO. If A and B are disjoint sets and n(A)=4,n(AuUB)=7, then the value of n(B) is
? A 20805 B en 9508 Sdodoen 08ain n(A)=4,n(AuB)=7 eond, n(B) devd

. [z (2) 4

;(»31’ 3 (4) 11

1. If the sum and product of the zeroes of a quadratic polynomial are 3 and -10
respectively, then the polynomial is E

X4 :)g TIHE AE), BTTYY 0B Plaleve) CIARSEY DBI 3 HoBasio — 10 eacmé &3 20058

(1) x?-3x-10 A= x?+3x-10
(8) x?+3x+10 (4) x2-3x+10

_y"-. -

2. If X - 2 is a factor of the polynomial x2 - 6x2 +ax—-8, then the value of a is
13 6x2 +ax— 8 S wIUSB8 X - 2 08 SEroEB, a By, Desd
(1) 10 (2) 12
ey 34 (4) 18
SPACE FOR ROUGH WORK /285508 54
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¢ are the zeroes of the cubic polynomial 2x° + x -13x+6, then the

24. The number of zeroes of the polynomial shown in the graph is

UTRS® BrIndD wT0I8 08|, R S0y
' Y

' Y

- Wl Wl I %Wl Wil ¥

,J.- ‘!j
/ﬁ% 0 | 2 1

(3) 2 (4) None of these

FD )

|
25. The pair of linear equations X+ 2y-5=0 and 3x+12y-10=0 has

x+2y—5=0 58w 3x+12y-10=0 &3 dHob Issere 2D

(1) no solution (2) two solutions
ey B BOE) PR SOLTON
. L,’;l)/ l;nique solution (4) infinitely many solutions
JBE Ao Gotos WHOB AEHED SoLTON

SPACE FOR ROUGH WORK /283508 595
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. In a competitive examination, 1 mark is awarded for each correct answer while

5 mark is deducted for each wrong answer. If a student answered 120 questions and
got 90 marks, then the number of questions that the student answered correctly is

1
2
o8 ou8 120 (SHoH Sargraren grabm 90 @rriy,eo Sdydwond e 2o H8aRH SHrTTEe)
FRR 39 Jog)

=17 90 (2) 100

(3) 110 (4) None of these
DD 5

2.8 253 SBESE, (5 ABALD Sareraend 1 S3°8), Bnd, B (58 B3 SETGIRE = Hd), DA,

7. Which of the following is not a quadratic equation?
&4 808 TRS® B HY HQEBEB0 $787?

: ,14‘7 (x+1)°=x2-2 (2) (x+1)°%=3(x-2)

' B) w+2”+3=x-1 (4)  (x+2x—1)=(x+1)(x-3)

>

]

8. If one root of the quadratic equation a(b —-C)x2 +blc—a)x+cla-b)=0 is 1, then the

other root is

a(b-c)x? + blc —a)x +cla—b) =0 & 5§ 50Eerds 1 28 SrreDd, 267 Suresw

~ ble-a) alb-c)
a(b—c) cla-Db)
@ be—a) W ap-o

9. If the sum and product of the roots of the quadratic equation kx? +6x-+4k =0 are
equal, then the value of k is

kx? + 6x+ 4k =0 & 58 PEGE0 D), Surere Ando, Surers 0erds DAEIWB, k dewd
3 )
m -5 %
2

@ -3

SPACE FOR ROUGH WORK /%3508 2
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30. If the numbers n— 3, 4n - 2 and 5n + 1 are in arithmetic progressiorn, then the

value of n is

n-3, 4n- 2 508050 5n + 1 Sogen wosFES” Godd, n Jend
eI (2) 2

(3) 3 (4) 4

31. In an arithmetic progression, 25th term is 70 more than the 15th term, then the
common difference is

o€ @OYRAS® 25 B S50, 15 D Sedw Sl 70 IE,D a3, FATRY P30

(1) 5 (2) 6

(3)77 (4) 8

32. Which term of the geometric progression 2,2:2,4,..... is 1287

2,242, 4,..... &3 HoeEGS® 128 Jiyd 8507

(1) 11th (2) 12th
(3) 13th (4) 14th
: X 2 2 2
33. If the geometric progressions 162, 54, 18, ..... and 812779 have their nth
term equal, then the value of n is
2 2 2
162, 54, 18, .....508d%0 81'27°9"" @R HDREG N Toren FATRIN, N Jeod
(1) 3 (2) 4
B S (4) 6

34. The points A(-5,0), B(5,0) and C(0,4) are the vertices of which triangle?

A(-5,0), B(5,0) S08a» C(0,4) Dooyev fgreore Ko (Bebasdo 2872

(1) A right-angled triangle (2) An equilateral triangle
2.8 aoeagfea |Beess0 a8 D0er @8
gj/ An isosceles triangle (4) A scalene triangle
¥ D208 (Hebesn 2.8 D5oer (Hegestn

SPACE FOR ROUGH WORK /2833508 fndan
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The X-axis divides the line joining the points A(2,-3) and B(5,6) in the ratio of
A(2,-3) So08asx B(5,6) Dooyeay 563
(1) 1:2
(3) 3:5

~ Ograocy X-e50 D4R0% ESPNT )
2) 2:1
) 2:3

- If four vertices of a Parallelogram are (-3,-1),(a,b),(3,3) and (4,3) taken in order,

then the ratio of @ and p is

(=3,-1),(a,b),(3,3) 08k (4,3) e e ghr06" Bt 2.8 GET0BE Hatyyzo BN, T ATSs,
a 08akn bo DS

(1) 4:1 (2) 1:2
/@lr/lzs 4) 3:1

: 1 1
. If the points (a,0),(0,b) and (1,1) are collinear, then i e

(a,0),(0,b) 22805 (1,1) &8 Botoen SBHosrss, %i‘l E

:

3 b
)

5 (1) -1 o : «J/aj’n

2 f-.l - "’i

. (3) 1 AT~

)

(4)

- If the centroid of the triangle formed by the points (3,-5),(~7,4) and (10,—k) is at the
point (k, —1), then the value of k is

(3,-5),(~7,4) 08a5» (10,-k) &3 DotHes® IGHE |@eheso By, fﬁd)ésgoLéo, (k, —1) Doy
58 GReaond k dend

(1) 1 (2) 2

437 3 ——a

). If AM and PN are the altitudes of two similar triangles AABC and APQOR respectively
and (AB)? : (PQ)%2=4:9, then AM: PN =

AM 50805 PN o0 Bot S8 (Bebar@d AABC $08cn APQR® éxysoen S05m 598ako
(4B)? : (PQ)® = 4 : 9 woxd, AM; PN -

(1) 3:2 (2) 16:81

(3) 4:9 W o2:3

— SPACE FOR ROUGH WORK /083508 2e5n;
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40. In the given AABC, if DE || BC, AE = a units, EC = b units, DE = x units and

41.

42.

BC = y units, then which of the following is true? |
3D 50060 AABC &', DE | | BC, AE = adhrdey, EC = b chirdey, DE = x abrRe) 5805

BC = y abordey wond, s 208 706" D8 S6ghn?

a
(1) x= a f b
a+b
B *= "y |
If the lengths of the diagonals of a rhombus are 24 cm and 10 cm, then each side of
the rhombus is
2.8 oroan (95 DBotnmo) D), Sgre FEYHen 24 Wo. . BAin 10 o. L. ey eond, oD 5
goedn DG
(1) 12 em (2) 14 cm
12 %o. do. 14 Do. 2.
(3) 15 cm (4) 13 cm
15 do. . 13 o. &o.
In the given figure, PA is the tangent drawn from an external point P to the circle with
center O. If the radius of the circle is 3 cm and PA = 4 cm, then the length of PB is
39)% ;woé‘, PA 38 erdry #0i809) P %00& O oo Ko o8 Aohads 950, By TR0
3 0. 0. H0Bakw PA = 4 vo. &, e@owd PB Qg 2EY
A ‘
3 cm 4 cm 3
o B P
(1) 3 cm (2) 4cm
3 »o. M. 4 No. do.
(L3)_ S cm (4) 2cm
: 5 Do. M. 2 o. &,

- SPACE FOR ROUGH WORK /85508 i
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43. In two concentric circles,
to the smaller circle who

Both I B0 Hymres®, 24 20,

i

P
% ." ’J—’& 5 m

a chord of length 24 em of larger circle becomes a tangent

s€ radius is 5 em. Then the radius of the larger circle is

213.5:3"(3" e o o : ¥y 53 P T 7. TR PR N
) M0 268 Bhi5a0 Gauk), &g, 5 Do, M. TgRnEH He B 5Ie0s

;-(Dqg'éa) OB, DE Dy Gz, TS0

(1) 8cm

; 8 Do. .

; (3) 12 cm

; 12 %o. .

;

i

(1) 40mem?

40m S.00.50.

(3) 1007m cm?

1007 B.20.20.

5. If the height of a conical

(@)
5 c¢m
N 7"
(2) 10ecm
10 Do. .
jﬂ’] 13 em
13 »o. .

- The area of the circle that can be inscribed in a square of side 10 cm is

10 Do. 0. geson He SB0SRIES" wosBPosads Syko Bnk), progin

f}-’-l—— 30n cm?

30m H.0.%0.

25n cm?

(4)
¢ .
251 H.0.%.

tent is 3 m and the radius of its base is 4 m, then the

slant height of the tent is
2 $0guH) e5°8 0GRS0 B, 2B 3 . LBKH T T THREID 4 . LB, & HEEo B

Deren I8 \.
(1) 3m (3)) am g
3 . 9.2,
@) 5m (4) 7m
e 7 &,
— SPACE FOR ROUGH WORK /083308 8
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46. If the radius of the base of a right-circular cylinder is halvefi, ke(l-*pm}g th{; hr.lmJ
same, then the ratio of the volume of the Cylindf‘-f thus obtained to the volurme
original cylinder is

&8 (550 IS RS0 By, I sef 900, 570 g gy Sros BoD Heond, & i,
DHED JrSan 8ok esen ApSane sdlareare d5d
(1) 1:4 2) 2:1
(3) 1:2 (4) 4:1

47. If tanb = \f§ , then the value of seci is

tan® = /3 eownd, sec O D), dend

(1) 2 (2)

B 5 (4)

((T)IIMNIH

48. A chord of a circle of radius 6 cm is making an angle 60° at the centre. Then the
length of the chord is

6 0. 0. Tygo ¥ORD 3yB0s’ 2.8 ey Boo 38 60° & §%m0 F908. eond & &5 EY

(1) 3 cm (2) 6cm

3 vo. . 6 »o. .
(3) 12cm /(.91’ 3V3 em

12 o. . 343 wo. &,

49, The value of tanl10° tan15° tan75° tan80° is
tan10° tan15° tan75° tan80° @), devd
(1) -1 (2) 0

‘3{ 1 (4) None of these

2D =P

50. If tanf+cot8 =5, then the value of tan29+cot29 is

tan® +coth = 5 ©and, tan29+cot29 Gok), Dewd
(1) 1 (2) 7
23 (4) 25

SPACE FOR ROUGH WORK /‘&QJ‘;’S&)G A
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SECTION—II : PHYSICS

51 . ic y
Pick the correct answer from the following two statements -
08 Boch T¥neIod KBS SArEe J0BE Sabod |

(@)  Within a bar magnet, magnetic field lines travel from south pole to north pole,
Somraiar, ot §%5e, ALY 08 ety i oo Mod GBBEHo FHH [@osrdaron,
(b) Outside bar magnet, magnetic field lines travel from north pole to south pole
Sz, 0o Dende, ©okim,on weBrm &85 B0 wod aZpydo Y5 Pairdnon,
(1)  Both (a) and (b) are true
(@) 3080 (b) ot vedd
__(2)Both (a) and (b) are false
(@) 2865 (b)Bos &:38
(3) Only (@) is true
(a) SrBS0 desdn
(4) Only (b) is true

)
)
; (b) S devd
)

S52. Weber is the S.I. unit of
28 @038 828 S.1. Hareso

(1) magnetic pole strength (2) magnetic moment
SO, 08 GHDIBEID 007,08 |gravso
/lar/magnepic flux (4) magnetic flux density
©ALIYOB BPT IO R

53. The magnetic force acting on a straight wire of length [ carrying a current I which
is placed perpendicular to the uniform magnetic field B is

1 25 BoBatn [ 2¢gd (Sviro SOR &) a8 B D588 ©ahim,ob Yo B £ woor 4089, &

S/ 5B DA 0,06 wEO
(1) IIB ~t2)" I/ B e )T
(3) B/ (4) I°Bi .

SPACE FOR ROUGH WORK /280508 AR

e 13 ;’!\'O. .
3-B [ Q collegedunia
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54.

§5.

56.

57.

et A L

Mechanical energy is converted into electrical energy 1in

QUo(dS BED Degh 8 Bty disaan

(1) motors (2) electric geysers
e Deogh A

(3) generators (4) televisions
CRLIN Bd2m5 www.apteachers.in

The device which contains slip rings to reverse the direction of current througp
coil is called

SNBRS* 258 o B8 2590 BED JrtE0s® ABDBIH B BolHeHd ¥OR dotl st

(1) resistor (2) battery
DEEA0 g0l

(3) electric motor (4) solenoid
DS Brvertdy Dok

An increase in magnetic flux through a coil of 500 turns in 0-1 s is 0-001 Whb. The
maximum induced EMF generated in the coil is

D00 Soep SRS 2.8 Sitdoe® 01 s & wbRs ©aLAY,08 VP DS 0-001 Wb, S0HE'
&S KB (286 DEETNO BB

(1) s0V (2) 10V

(3) 05V 4) 5V

If € and At are the induced EMF and time respectively, then the change in magnetic

flux is given by

€ 0800 At € SEI (288 Debamey weo By Seo vowd ©ADIM, 08 SPTo Sy

" -
(1) At (2) eat
[ €
@ = (4)  Jear

SPACE FQR-RBUGH*W@RR'MW%&»
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S9.

R ¢ ) D

61.

The value of —10 °C temperature in Kelvin scale is
39045 BrH0S" —10 °C s dend

(1) 283K (2) 263 K
(3) 273 K (4) OK

According to the principle of method of mixtures, if A and B are the net heat lost
and net heat gain respectively, then

WFTO SEB $(B0 5750, A BN B oo SWBT AP %55 o1 digo 2Bt DR DDV
(frodd ago eond

(1) A>B (2) A<B
(3) A=B (4) None of these
T 5°%)

When wet cloths dry, water in it disappears. This is due to

B e AT BOWHHE, BOHS D A HIrdbRYHH08. S0

(1) freezing (2) condensation
dLHS0 : o |B¥8m0
(3) melting (4) evaporation

(E5DEDH0 rlyaisso

The relationship between average kinetic energy (E) of water molecules and its
absolute temperature (T) is given by

B3 SEATERDE BOVHB G (E) 50800 m 5650 &8 (T) © Sossy Sowodso

| 1 1

(1) T (2) N

(3) E«=T ) (4) E is independent of T
T E a5

SPACE FOR ROUGH WORK /80508 g0
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62.

64.

' 65.

66.

Pick the false statement on apecific heat.

Bo8 mSe® HRQIRDLD By ardgan DA7

(1) Its value is same for all the substances
80 Do e SErgret) Bhmso

(2) Its S unit is J/kg-K
Ao S.1. Pdeeo J/ kg K

(3) Its value is high when the rate of rise (or [fall) of temperatu
B0 Dewd B agiTd Do (o Birie) Ben )0

(4) Its value for water is 1 cal/g-°C

re is low

D38 0 dewd 1 cal/g-"C

Freezing of water takes place at a temperature and atmospheric pressure of

DK DodgRSBe Dot PG Batn TrorHden hesaren S0

(1) 100°C, 1 atm (2) 1°C, 100 atm

(3) 0°C, 100 atm (4) 0°C, 1 atm

Refraction does not take place when the angle between the incident light ray and
normal to the interface is

585 5708 85e08 S08akw LowrdS fugsy D 50 5 Hi8dHH0 EKE

(1) 0° (2) 22-5°

(3) 45° (4) 60°

The refractive index of a medium is 2. The speed of light in that medium is

2.8 afr=d8o Bk, 51825558 Hmko 2. & drdEos® soddEw

(1) 6x10® m/s (2) 10®m/s

(3) 5x10% m/s (4) 15x10%° m/s

Which among the following are used in transport communication signals through
light pipes?

DT Sodored [Iddo YHERE T sTodfMeren

(1) Plane mirrors (2) Concave lenses
e SEHETeD Qe Seosten

(3) Prisms (4) Optical fibers

| Syse upsS pabes

SPACE FOR ROUGH WORK /3508 s
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67. Which among the following statements on mirage is false?

68.

s Em - o e "y

9.

QOGATRYOH Sowofod \BoB TlS” B TEEHL

(1)
(2)

(3)

(4)

It is an optical illusion

o8 &S @

It 1s the real image of the sky

38 es750 QwE), des (SAVordD

[t appears on the distant road

a8 &rEY 5GP LdD™es

It appears during hot summer day

D99 Jodwos> EvBRwoN

If v, and v, are the speeds of light in the two media of refractive indices n, and n,
respectively, then _
n, 0Baf0 n, I8SH Koeaso deoSen KRS Botk crRseS” SToSHMTen LM v; 2Bain v, ©o0d

m

(3)

Which of the following rays undergoes d_eviatjoﬁ by a lens?

L B 2) b _Tg

v np vp 1N
n Uy o

Vg L) Un nl

1208 T3S° Se¥o Jei DBeHo ok SPod SseTen

(1) Ray passing along the principal axis
(PPTRTER 0T DY) E¥eaeen

(2) Ray passing through the optic centre
5;)5 B0 (oG %) Seren |

(3) Ray passing parallel to the principal axis
B SdroBdonT %) SSeren

(4) None of the above
DD 5%
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70.

71.

72.

73.

Pick the correct answer from the following (wo statements :
(808 3o TEF00 od BBALD DAEEHo JobE HnEed

(@ Virtual image can be seen with the eyes,

Fy Pédowo Eoedd LaBos.
(b)  Virtual image can be captured on the screen.
gy WODoemY) B&H DOSHAYY.
(1) Only (@) is true (2) Only (b)is true
(@) S deso (b) Sy Dz
(3) Both (a) and (b) are true (4) Both (a) and (b) are false
(@) Basw (b) Bokr derd (a) 5805w (b) Boks® BIPD

The lens bounded by two spherical surfaces curved inwards is

B0t PYer R'osd &58Ber0 SHIYL SoR &) Lo

(1) biconvex (2) biconcave
8sogrsed Bgderrses

(3) plano-convex (4) plano-concave
~aoBe  Hogrsey B Jeorse

If the object and image distances due to a convex lens are x each, then its focal

length is

2.8 H0g75°8 Kerko Gg), D) DoBakw [S&Dow Sreoren 287,58 x ®ond TeryoBso
(1) 2x (2) x/2

(3) 2x/3 ' (4) 4x

Irrespective of the position of the object on the principal axis, a concave lens
always forms an image of nature

L:)WSO;Z 5:)_%@ %‘;{)oﬁa :Joa)O{;so 3&)06‘, 5 DT oo QQQ)JGJ‘ 5635250 @’)@ﬁom

RIS NY
(1) real, invert (2) real, erect
des, Seodotheurnr 023, DYDY
(3) virtual, erect (4) Does not form any image
2055, DRI B&Dowo IEgEHo
o SPACE FOR ROUGH WORK /95508 i . i
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74. Usually Doctors, after testing for defects of vision, prescribe the corrective lens
indicating their

: G “ sy 038y - T
LG0T R, Q\QL‘S’MRU $8200:0 BT, o) AWeren 5.5 (308 T 5r50S” W Fnid

(1) radius of curvature (2) refractive index
- - \ ry . 'f:
JFE TP Sifgon romto

(3) mass (4) power
1B250°% S50

75. Farsightedness is called
EEY SRYOR Horm JERIR, SIB Srudeio P8 SrEBEY GG N

(1) hypermetropia (2) myopia
& 4R e
(3) presbyopia (4) cataract
Segdo Beos
. 76. Relationship among the speed of light wave (v), wavelength (A) and frequency (f) is
) given by
: S8 B50K Do (v) BEX D50 (A) DB VS50 (f) © g5 Sowogio
)
é_ (1) f=vi (2) v=fA
. @3 A=f (4) r=Jp

77. Which of the following statements on red colour light is true?

1208 T3S° IrHBoIH 708 Sowofod DeAD TEFW
(1) It has low refractive index and suffers high deviation

o8 vy 5455 HnYo SR, ©RE o0 DoBsuod
(2) It has low refractive index and suffers low deviation

o8 oy S84S5 KHe¥o KR, ve) B850 JotHEosd

(3) It has high refractive index and suffers high deviation
w8 oy 584555 H0%0 SOR, 85 VB0 DokBos

(4) It has high refractive index and suffers low deviation
o8 o8% J1EHSS Heso SOR, ve) dSeS0 Jokisod
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78.

79.

80.

E 81‘

82.

(3) ammeter

of
. : o the molecules
Blue colour of the sky is due to the scattering of light by

. 4 o8
5708 (508 SedrrnHes’ S8 Dotsto HoH Lo Moo SHRB)

(1) H, (2) H,0
(3) (\02 [4) N2 Elnd OJ
N, 80w O,

. . . ce due to a pri
If 1, and I, are the angle of incidence and angltf of emergen Prism
respectively, then at the angle of minimum deviation

5 DygSo Qg 589 B0 SoBak it Serres SIS i) B i) 0 03B SV 961 Fro gy
SRR

(1) 1, =i, (2) i >4,
(3) 1 <i (4) None of these
ADD 5"

The minimum focal length of the eye-lens of a healthy human being is
S5 208D JHD DY), Lo3-Leo¥ SR TRgoB 8L

(1) 25ecm (2) 2'5cm
25 o. . 2'5 Do. .

(3) 227 em 4) 1cm
227 Do. . 1 Do. &o.

Volt per ampere is called
5@ / e0danb B8 sarso

(1) watt (2) ohm
Ty L5

(3) coulomb (4) joule
Lrorrod &S

The device which maintains a constant potential difference between its ends is called
&% Dotk DdGer 1 DHPAOS By SewrDaty esso

(1) battery (2) multimeter
ergeoB 290068
(4)  electric bulb

B&)‘_;ws a&sg ‘m%
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83.

84.

85.

86.

Two resistors of 0-4 Q and 0'6 Q are connected in parallel combination. Their
equivalent resistance is

04 Q 208cin 0-6 Q devdes Ao Tow 5T JroBso Jogrde IV, 96 250 deud
(1) 1Q (20 05Q
(3) 024Q 4 01Q

The junction law proposed by Kirchhoff is based on
So7ye (988023 10§ dakivo 83 LTSRS

(1) conservation of mass (2) conservation of momentum
535078 Disgisg Kriso SIS DBy MBI

(3) conservation of energy (4) conservation of charge
25 dogs Ao edTe DB Ao

The materials which have large number of free electrons and offer low resistance
are called

38 SoagS” NIy Jogie SR sod weydE o SR dotd e

(1) semiconductors (2) conductors
oS TSR

(3) insulators (4) None of these
2055700 3D =P

A fuse is made up of
Ty Basr88 e 8K
(1) thin wire of high melting point
Sy dold, SR BHES o KR dotico
(2) thin wire of low melting point
DY oG, ) (LD o0 5OR &odicio
(3) thick wire of high melting point
Srosore &od, wHE BHESH o $OR dodewo
(4) thick wire of low melting point
vobone &ol, ©e) (BAEDD FHo SR dotdo

SPACE FOR ROUGH WORK /28508 LA
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2 .
= _sectionn 1 mm™ 1s
37. If the specific resistance of a wire of length 2 m and area of cross-sectio
1078 Q-m, then calculate the resistance.

i A j 8 0. S 355:;‘..0
2 m oy HBany 1 mm? g prrego SORS o8 & D85 2850 107 Q-m 000D €3

SOth
(1) 1077 Q (2) 2Q

-2
(3) 2x10°%Q (4) 2#%107°Q

18. An evidence for the motion of charge in the atmosphere is provided by

TEHSR0S" ST HOTRY) dHoHBATD GOUTE

(1) rainbow (2) mirage
ROIBEVN) DOLEDT YOI

(3) thunder (4) lightening
&8E0 oilet)

The electric energy (in kWh) consumed in operating a bulb of 60 W for 10 hours a
day is '

60 W 250850 o wey) a8 5%ré* 10 Kotoeo &8 23&5~Ko 25538 (kWh 8" )
(1) 06 2) 6
(3) 36 (4) 12

Ev

el e

0. The scientific demonstration of H.C. Oersted is related to the study of
H.C. &s008 R& wRanomr sergdds [Sa@rKo

(1) electric discharge through air

oS 96558 dtho

(2) relationship between voltage and current
TG8, Diiogb (D8 Bogss Mowoiso

(3) magnetic effect of current
D855 (S0 By echHdm,08 (Sedo

(4) refraction of light

5100 Bikesiio
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SECTION 113

t CHEMIBTRY

91. \L‘ == () By Eond
R~ Netional Broup indicpes
R\
L=0 RIS 84 e ,
R~ WRIA Sidariig D oy
(1) aldehyde )
Q‘ﬁ{?" E (2)  ester
(3)  alcohol () ;}Ejﬁ
¢ celone
&‘T&b:ﬁé A i
S6) )
92. Ethy] alcohol upon oxidation produces
3RS w056 whistmo 308 1, R0,
1
(1) z;tser - (2) aldehyde
sl
(3) ether (4) algi:t
H ane
: &G ed) &
; (5
;93. Ethene and ethyne differ in
S0 2080k TP BB eomes
; (1) number of carbons (2) number of bonds
- )00 Sog) OO oz
: (3) number of hydrogens —4] Both (2) and (3) =«
: TIE s Sogy (2) 8csw (3) Dok
94. Which of the following are called paraffins?
1808 TRE" IR F0°DSy) woerEn?
}M’ Alkanes (2) Alkenes
&), 200 @) Soen
(3) Alkynes ‘! (4) Alkyls
&), 000 &58) L0eD
)5. Cough Syrup contains
15y 050G Hogg e0FIERN
—-(—H/% thanol'y (2) ethanoic acid
2SS 2 ons &80
(3) ethanal (4) ethyl acetate
i 23S DSBS
v SPACE FOR ROUGH WORK /05508 gnisiiw
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96.

97.

99.

100,

CHSCOOH solution turns red litmus into

CH,COOH [pdeas00%0 3& Doy EOVHHE

(1) blue (2) Remains red
DAoL BB JENHBOMONTR GOLEIN

(3) colourless (4) None of these
DEETEIMHNO ADD 5°R)

Identify the hardest substance in the body.
#0808" w508 LB Sago 2B

(1) Calcium sulphate (2) Calcium chloride
sQano 585 s9ao §BE

(3) Calcium phosphate ~ (4) Magnesium sulphate
s9apo i BoAano 58S

2HCI] + Zn ——

(1) 2ZnCl, - (2) 2ZnCl, + Cl,
(3) H, (4) ZnCl, + H,
Methyl orange shows colour in acidic solution.

ey [@Heas0H 2PE estod SHBIHE O SotHidy BIDoB

(1) yellow (2) red «
S0P QY
(3) green (4) blue
55059 Q0

Which of the following is not correct?

(808 70&° deso 08
(1) 2p° (2) 3s' e
3 42 , (4) 2d°
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101. Quantum numbers of a subshell are n = 2 and [ = 1. ldentify the subshell,
_ 4 Ve dvind g
n=72 %Baiw [ = 1 55500 Dogien Ao abstto 6

(1) 2s* (2) Is
(3) 2p (< 2

102. [ values of subshells d. s, [, p are respectively
d, s, f, p 4358070 [ Devbey StHT

(1) 1,2,0,3* (2) 3,2,1,0 -
(3) 0,1,23 (45 2,0,3, 1
' .

103. In visible light, red colour possesses
EyEsodS J8HBoK
(1) high wavelength and high frequency
RS B/ PE5H0 B @PS DHHIge SR oo
(2) high wavelength and low frequency

)
e 085 BN P 0Bk BB FIYH50 KOR o)
; (3) low wavelength
)
é_ B Bl PYsdad ¥OR dotomo
5 (4) All of the above
2O &I

04. Identify the degenerated orbitals.
808 T0&° 50388 Ko eBerg)o HBotod

(1) 2px 2py 2pz (2) 2s, 3s, 4s
(3) 3p, 3py 3;:;,a ﬂ/Bﬂth (1) and (3)

(1) SoBaiw (3) Botire

05. Elements having 5, 6, 7 valency electrons are

5, 6, 7 Sowgs’ Dok degiue Ko sureste
(1) P, 8, Cl ¥ P, Cl, Na
(3) P, ClLS (4) P, S, Na
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106.

107.

108.

109.

110.

111.

ion and CI” ion are

Aa0Iew
z“(521 2,8, 2and?2 8 8

9. 8, 2 6o 2, 8,8
(4) 2,82and2,87
2. 8, 2 %805 2, 8, 7

Electronic configurations of Mg*'z
Mg‘z aaird f8ain Cl eairmhoe n)ot'g;s 2
(1) 2.8and 2, 8,8

2, 8 DoBatn 2, 8, 8
(3) 2,8, 8and?2, 8

2, 8, 8 J0Boxn 2, 8

Coordination number of Na® in NaCl crystal is

NaCl F(}n)eSSOGS‘ Na' Ay, RRMLOH ﬁoaJa

(1) 1 o (2) 6
(3) 2 (4) 8
Bonds present in Nitrogen molecule are
DSBS wrwPHS’D wogs® &),
(1) 3o (2) loand2n =
1o So8asw 27
(3) 3m (4) 2rand 20
2n So8ain 20
1s%, 25%, 2p°, 3s?, 3p° configuration is related to
1s%, 25%, 2p°, 3%, 8p° JogS smEan % D088
(1) p3- (2) CI
(3) s (4) All of these
Svilestl
The number of electrons gained by non-metal element is equal to its
2.8 8% Sressn o8 QO TR0 Doy TR 8 Shreidd.
(1) wvalency (2) group number
3o () Sogy
(3) bond length (4) All of these
w0G PE5H0 ©ain

Corrosion of copper produces
oA oA FoBIYHE D)0,

(1) copper oxide . (2) copper carbonate
 ssBegyE =38 6538
(3) copper sulphate (4) pure copper

| s"::;!siaﬁ SgER R
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12. 22-carat Gold contains

115.

116.

N DT e TS Ty T

22 By woreddn _ WoBoin __ #0 4OR dotod,
(1) 22 parts of Gold + 2 parts of Nickel
22 e porrEan + 2 grmen DES
(2) 22 parts of Gold + 2 parts of Copper
22 griee pomian + 2 ren oof
(3) 22 parts of Gold + 22 parts of Silver
22 g RSN + 22 ey Dod

(4) 22 parts of Gold + 2 parts of Chromium
22 grive worrdan + 2 grren §Puaho

Formula of Rust is

0Ty AWE), @ndaée}v
(1) Fe, 05 x H,O (2) Fe,O, x H,O °
(3) Fe(OH), (4) Fe(OH),
Chemical used ‘to remove impurities from ore is called
TRHSED DdTon SoRodh T SEUER) 0T,
(1) gangue . (2) mineral

™oh 0230
(3) flux (4) slag

(8558 Srdoeo

By moving top to bottom in group, valency will
"DS" D o BosH 5y S0l, ey

(1) increase (2) decrease
DEIHBIOS BB008 _
(3) No change (4) increase and decrease
SIEE

i LI 2Bt BA
Atomic number of the element of VA group, comihg after nitrogen is
VA £ 3085 Ps’as 606, & [(96° 53 Sured S8area Rogyg

(1) 7 (2) 15
(3) 14 (4) 17
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117.

118.

119.

120.

Identify the element that belongs to 2nd group and 3rd period.
BotS PR SBay 3 H JBaHE K Dodih Horeto N6

(1) Na (2) Al

(3) Mg (4) CI

Identify the correct statement,

8 e ReSA0ed (PBASD) &) HBoBk

(1) All s block elements are metals
S 25 Jurostel) 5%

(2) All p block elements are metals
P e Sorestel) St

(3) All s block elements are non-metals
s e Sorestel) e e

(4) All p block elements are non-metals

P &% 2urested) s gt

VIA group elements are called

VIA /79 Sarescesd @0,

(1) chalcogens, (2) oxygen family
&0y ey Kenowo

(3) halogens (4) Both (1) and (2)
S nS) (1) 29800 (2) Bocr

Identify the structure of propyne.

BoB RS’ @R e DoYEI0 I8
(1) HC==CH (2) H,C—C==CH -
(3) H,C=CH— CH, (4) H,C=CH,
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